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Boletin.— Cambio de Unidades

1) Completa

a. 600dm =
b. 410dam =
c. 0,34dm=

2) Completa

a. 0,05kl =
b. 340ml =
c. 09 =

3) Completa
a. 80dg=
b. 150mg =

c. 0,03dg =

4) Completa

a. 2422m=
b. 4,2dam=
c. 256cm=

5) Completa

a. 1,56k =
b. 5,4hl =
c. 0,58| =

6) Completa
a. 3kg=
b. 1,4hg=
C. 420g=
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Boletin Adaptado
400cm = dam
0,009km = m
200hm = dam

1000dal = hi
75cl = |
300ml = cl
700dg=__ hg
4000mg = kg
0,9dg = cg
400mm = dm
16km=___  dam
052km=_____m
324l = hi
75cl = |
234ml = dl
d. 28,7dg= g
470mg = cg
39dg = mg



